S2 Fig. Scatterplot of the relationship between male gender and age and mean difference.

Std diff in means

Std diff in means

-0,34
-0,72
-1,10
-1,48
-1,86
-2,24

-2,62 Q

-3,00

-0,34 |
-0,72 |
-1,10 -
-1,48 -
-1,86

2,24 Q
2,62
Z=0,037; P=0,71

-3,00

Regression of Male gender on Std diff in means

0,80
0,42
0,04 —

Z=0,021; P=0,98

-10,00 2,00 14,00 26,00 38,00 50,00 62,00 74,00 86,00 98,00 110,00

Male gender

Regression of Age on Std diff in means

0,80
0,42
0,04 +

53,40 55,32 57,24 59,16 61,08 63,00 64,92 66,84 68,76 70,68 72,60

Age



